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Topic:- General Knowledge and Logical Knowledge

1) Nasir Aminuddin Dagar was a well known ./ TER G’rl'l'-ﬁﬂiﬁ? SR Wﬁ'@ﬂﬁ
Off

1. Urdu Poet/B_gf MY
2. Painter / UeX
3. Qawwali singer / HodTell TTH

4, Dhrupad singer / {Uc TH

Correct Answer :-

 Dhrupad singer / U< TTdH

2) In which of the following cities was India's first metro railway started? /ﬁ'ﬁ'ﬁi@ﬂ' AAURT S

o 2187 & vy At ¥a &1 ufvaras foar ™ 312
1, Chennai/aﬂ_&p
2. Kolkata / IR

3. Nagpur / TTYR
4. Delhi / &t

Correct Answer :-

« Kolkata / PIIBTdl

3) In which year was the Family Courts Act enacted, setting up family courts around the country? /

M WX W URAR AT BT RATIT & g, fory a6 o uRar =amare Sifif=ras s ar 412
1. 1992
2. 1989
3. 1984

4. 1990



Correct Answer :-

» 1984

4) Who is commonly referred to as the ‘Father of Modern Hindi Literature’? / HTHII: s

3nyfre & Tt & e wer srar 22
1. R.K. Narayan / 3R AR

2. Harivansh Rai Bachchan / 8RARRT S+
3. Bharatendu Harishchandra / 'J-I'Ra—g‘g 3&21‘9?

4, Prem Chand / atla?{

Correct Answer :-

¢ Bharatendu Harishchandra / uRa'g gﬁﬂa

5) Who is referred to as the father of the Indian Constitution? / YRAH Gy & P d =u
frd ST SITaT @2

1. Rajendra Prasad / X Si% TG
2. B.R Ambedkar / &, 3R, 3aSH
3. Mahadev Govind Ranade / IIE'@H‘ IEERIGIE

~

4. Gopal Krishna Gokhale / HII P JIRELY

Correct Answer :-
+ B.R Ambedkar / &l 3R. 3[aS®HT

6) If BATCH is coded ABSDG, then how is FORSAKE coded? / Gf¢ BATCH &I ABSDG ¥ BIfSd
a1 SITaT 8, 9 FORSAKE 9 %4 Pifsd frar w2

1. GQPTZLT
2. EQPZLTD
3. GPQTZLT

4, EPQTZLD

Correct Answer :-

« EPQTZLD

7) Which is the first Atomic Power station in India? / HIRd PT YYH GIHTY[ Sul W Ak g7 %?

1. Kakrapar Atomic Power Station / T RIUIR YIHTU] Sl b

(3)



2. Madras atomic power station / H&I¥ UXHIU] Sl TR
3. Rajasthan atomic power station / TSR URHTY] Solf WM
4, Tarapore Power Station / dIR UR fdd dx

Correct Answer :-

o Tarapore Power Station / R UR RMfad $&

8) Which Indian social activist is renowned for his work among leprosy patients? / P8 AR &

T, HI-AT URAH "rATRTS Sriwar 3oq $1d & fore whig 32
1. Dhondo Keshav Karve / @Sl $Rd &I
2. Baba Amte/ STST 3THS

3. Ram Manohar Lohia / J[H IF?IET a‘rl%m
4, Vinoba Bhave / faTaT HTd

Correct Answer :-

e Baba Amte/ did] 3T

9) Which Union Territory of India has the lowest sex ratio? / YRd & T 99 o -&F | i
YT 99 $H 82

1. Lakshwadeep / A&fgIq

(ol

2. Dadra and Nagar Haveli / GIaX T4 TR 6aQ'1I

3. Andaman and Nicobar Islands / $/€HM Td fAPIaR gU T3

4. Daman and Diu / GA- Td gia

Correct Answer :-

« Daman and Diu / GH9 Td ?ﬁa

10) Which of the following is a classical dance form of Andhra Pradesh? / Fafrfad g s
(TS TSR BT R TI 82

1. Kathakali / BYHE

2. Bharatanatyam / HYdIRIH
3. Odishi / 3NTS

4, Kuchipudi / pTge!

Correct Answer :-

« Kuchipudi / $TIYS!



11) Which of the following awards is conferred for contribution to the development and promotion

of Mallakhamba? /W%W@Wﬁﬁmﬁ%mmﬁﬁﬁ-m
TRIBR f&aT oIl 52

1. Vishwamitra Award / fayTieE PRIPR
2. Vikram Award / fash T [REBR
3. Prabhash Joshi Award / THTY 1=l JRIPR

4. Ekalavya Award / Uch ¢fo YRID R

Correct Answer :-

« Prabhash Joshi Award / THTY Sl gRIpR

12) What is the tenure of a Governor of a state? / U USRI & ISIUTH BT PRIPTS b= ¥ BT
glarg?

1. Till the age of 65 years / 65 9 @l 31 dh
2. Till the age of 60 years / 60 ¥ B S do
3. 5years/5 Gl

4.4 years/4_0|'5f

Correct Answér -

e Syears/5 CL

13) Who founded Santiniketan ? / wrifafred- &t -ITgAT %ﬁ 12
1. Manabendra Nath Roy / EIECI )

2. Rabindranath Tagore / ATy TR

3. Raja Rammohun Roy / XTI[ AR G

4, Debendranath Tagore / AT R

Correct Answer :-

« Rabindranath Tagore / J(S=&TY TR

14) The minimum age for becoming a candidate for Lok Sabha election is ./ ArHTUT Wﬁ

SHlcaR T & Riw sfaf smgwwddw 7
1. 30 years/30<_3|'5f
2. 35 years / 35 CL

3. 25 years / 25 CL|



4, 21 years /21 GL

Correct Answer :-
o 25 years/25 CL

15) If CLIMATE is coded DMJNBUEF, then how is ATMOSPHERE coded? / qﬁ CLIMATE &t

DMJNBUF & ®f&d forar SI1a1 8, @Y ATMOSPHERE &) &8 Sifed foear smam?
1. BUNPQTIFSF
2. BUNPQTJFSF
3. BUNPQTJSFS

4. BUNPTQIFSF

Correct Answer :-
e BUNPTQIFSF

16) If LEVEL is coded MDXCO, then how is STRAIGHT coded? / Of¢ LEVEL ®Y MDXCO | DIfSd
foan STt @, A STRAIGHT DY B2 BHifsa fpar s

1. ISTYLDLP
2. TSRYLDLP
3. TUSBJHIU

4. RUTYLDLP

Correct Answer :-

o ITSTYLDLP

17) One of the smallest districts of Madhya Pradesh is: / H& TSR & I B fora § 4 Udh %z
1. Rajgarh /X[STg

2. Dhar / YR

3. Rewa / 3T

4, Ratlam / Xd<iH

Correct Answer :-

» Rajgarh /XTTe

18) Bauxite is an ore of Aluminum. This occurs in large quantities in: / ﬁwss'qalﬁﬁ'q‘n DITP
3R g | I8 SN W AT H UTaT o7 §:

(6)



1. Katni Mines / Bl Weld o
2. Panna Mines / U= W& H
3. Baster Mines / I%R o |

4, Durg Mines / _g'ff e |

Correct Answer :-

« Katni Mines / Pl Ga &

19) Who among the following has not held the post of the Vice-President of India? / Fafafead a

P YRa & SRTPUfa $1 Ug T8 AT 82
1. Dr. Zakir Hussain / S’Taa \—Tle 3“%:{

2. Dr.S. Radhakrishnan / Side3 T XTYUTH WA

3. Dr. Rajendra Prasad / Siaey I UG

4. Bhairon Singh Shekhawat / IR} Rig Jrarad

Correct Answer :-

e Dr. Rajendra Prasad / Slaex Xoig UG

20) Who among the following founded the Royal Asiatic Society of Bengal? / Frafateaa 9 9 e
TS 1 I TR WISl S RITTAT Ft &i?

1. William Jones / faferaq sii=g
2. Lord Cornwallis / TS ®I-arerd

3. John Shore /S TR
4. Warren Hastings / IR e

Correct Answer :-

« William Jones / faferas si=g

21) In a certain code language Throw the ball is written beton feksa sopy and Ball is heavy is written
deven sopy bata, then how is Ball coded? / Th T IS YT ff, Throw the ball ®Y beton feksa sopy

foran SIraT 8 SR Balt is heavy @ deven sopy bata TG SITaT T A Ban B A Hifgd forar smamm?

1. bata

2. sopy

3. deven

4. feksa

Correct Answer :-



22) In a certain language gonk nonk konk means life and death and henk konk bonk means live better
life. Then in that language the word konk is used for: / T W HIHI 'el, gonk nonk konk ®T 3% life
and death Gﬁ? henk konk bonk BT Y live better life 3.1?" %I GEEDRILH H konk & ﬁl’Q foa Rlog PT
SwauTd fopar T 82

1. better
2. death
3. live

4. life

Correct Answer :-

23) The first Indian woman who has reached the rank of Air Marshal in the Indian Air Force is

/YRR aRg T @R ORI & U 9 UgaH aTel WYY URdg Afgar_ §
1. Puneeta Arora / Gl 3RIST

2. Anjali Bhagwat / 3{STfel HFTdd

3. Bula Chaundhury / @ HeRY

4. Padma Bandhopadhyay / UsIl Rt )

Correct Answer :-

» Padma Bandhopadhyay / U1l SeaTeEg

24) A group of 7 is to be formed from 6 boys and 4 girls. In how many ways can this be done, if the

boys are in majority? / 6 ASHI 3R 4 ASTHA & T 7 HT TP WY I7dT1 ¢ | Al TSHI BT IgHA 7
Al 39 g Bl fbaq UPR | I o THar 82

1. 100
2. 80
3.90

4. 120

Correct Answer :-

25) Sant Kabir Nagar and Sant Ravidas Nagar are Districts in which State of India? / YRd & o
TSR H Hd FAR TR TG A IAdeN TR ford §2
’ (8)



1. Arunachal Pradesh / 30T U
2. Uttar Pradesh / 3T} m
3. Rajasthan / XTSTRITH

4, Madhya Pradesh / H&J e

Correct Answer :-

o Uttar Pradesh / 3tR m

26) Find the next expression in the series: / 4l ¥ 3[TdT UG JTd PIforg:

ABCA, ZYXZ, ABCDB, ZYXWY, 2
1. ABCDEF
2. ABCDEB
3. ABCDEC

4. ABCDEA

Correct Answer :-

« ABCDEC

27) Select the option that is true about the Statements and Conclusions given: / 39 fd&e
BT T PR S 7P AT U Fu=Y ok FAsepul & TR & 961 8:

Statements: / PY-:
Some doctors are artists / $© ffha®d FATHR &
All artists are engineers / [t FATER Sﬁﬂﬁﬂ? %

Conclusions: / f=p:
I. Some doctors are engineers /| $9 [EIE:ED Sﬁﬂﬁﬂ? %
II. All doctors are engineers / I} fRifecT® goifaax &

1. both conelusion I and II follows / &G 1 3R 11 &I SR Rl g

2. neither conclusion I nor conclusion II follows / 7 B fFS&hH I 3R 7 g1 et 11 ST IR 8
3. only conclusion II follows / Had s 11 ST DRl g

4. only conclusion I follows / &I Fpy 1 ST hdl ?

Correct Answer :-

« only conclusion I follows / A F5HY I SRV BT §

28) Select the option that is true about the Statements and Conclusions given: / 39 oo
BT T IO ot P AT ¢ YN 3R el & IR & 981 8:

©)



Statements: / ®Y-:
No candy is chocolate / ®Is Hs! GiPpc T8l &
No chocolate is sweet / P diPdc [USTS T8t ?

Conclusions: / faep:
I. All candies are sweet / 4} F3 ﬁl‘d‘l‘s‘ %
II. No sweet is chocolate / &S fiaTs ATPac 8] &

1. both conclusion I and II follows / ISR I 3R 11 GIFT SITERUT HRd §

2. neither conclusion I nor conclusion II follows / 7 B fSFS I 3R 7 €1 w11 3TERUI 3 &
3. only conclusion II follows / $Had (s 11 STTHRUT Dl g
4. only conclusion I follows / P HY I IRV HRAT §

Correct Answer :-

e neither conclusion I nor conclusion II follows / 7 & &P I AR Bl ey 11 SR AT

29) Select the option that is true about the Statements and Conclusions given: / 39 o

BT I Pioe &1 fob few T AT o el & IR A I8t &:

Statements: / ®Y-:
Some movies are cinemas / $© Tt REAATE
All cinemas are clips / 9 w1 faag €

Conclusions: / farea:
I. Some movies are clips / Waﬂﬁﬁ %I‘q%
II. No cinema is a movie / PIs RIFHT Iaf 81 &

1. both conclusion I and II follows / &G 1 3R 11 EHY SFIERUI B &

2. neither conclusion I nor conclusion I1 follows / 7 81 fSrt I 3R 7 g1 fFept 11 ST PG
3. only conclusion II follows / DI DY 11 STTIRTT hdl 2
4. only conclusion I follows / HaT [HY I TRV HRAT §

Correct Answer :-

« only conclusion I follows / e fSHY [ SITERUN T §

30) Select the option that is true about the Statements and Conclusions given: / 39 fawea
BT I FIoE 1 fr e T wyAT ok fFepul & IR A I8t &

Statements: / PY:
All cows eat grass / Tt T 9y @ Tt %
Some buffaloes eat grass /| $© T T Wl &

Conclusions: / frsp:
(10)



I. All grass eaters are not cows / I+ 9T @H 911 T 81 &
II. Some grass eaters are not buffaloes / $© 4T M ara g T8 &

1. both conclusion I and II follows / FT&GH T 3R 11 & ST A %

2. neither conclusion I nor conclusion II follows /:TEPT W‘STI GﬁT Gl Ep[ ﬁEFEf IT 30T B %
3. only conclusion II follows / Had (e 11 ST Hdl 3

4. only conclusion I follows / Had ﬁ'@él ST HIT %

Correct Answer :-

¢ neither conclusion I nor conclusion II follows /- é)[ ﬁEb_GTI @T E] _Epf ﬁ@ﬁf 1T SR B %

31) In the following question, some group of letters is given, all of which, except one, share a common
similarity while one is different.

Choose the odd one out:

/ﬁaﬁ@;wﬁ, 3eRY & $© I T 7T §1 39 9t A Fad th &) DIsH, STH AT § TS
TP ST 31

ITH O fquH &1 9= Fifom:
1Y
2.0
3.A

4.U

Correct Answer :-
e Y

32) Find the odd one out: /Wﬁ'ﬂqi‘lﬁ Eﬁﬁl"’{:
10, 12, 15, 18, 24, 30

1. 12

2.30

3. 18

4. 15

Correct Answer :-

33) Complete the series choosing the missing letter/s: / &l SER/IAERT DI AN 31@?“ G| waﬁﬁw
(11)



mn_mmnn___ nn__
1. m,n,n,n

2. m,n,m,n

3.n, m, m, m

4.n, m,n, m

Correct Answer :-

34) Complete the series choosing the missing number: / &l AT AP YTl Cal UT PO
1,13,17,19, _ ,25,29

1. 16

2.23

3.20

4.25

Correct Answer :-

35) Complete the series choosing the missing number: / ToT AT AR YT G| T P
10,12,17,25,  ,50

1. 42

2.40

3.36

4. 38

Correct Answer :-

36) Complete the series choosing the missing number: / ToT AT AR YT C| T P
2,6,18,54,

1. 98

2. 162

3. 140



4.132

Correct Answer :-

37) The series given below contains a sequence of numbers. Identify the incorrect combination: / = a

TS YEdl |, T3l $T TP HH SURIT & | Tad T Ugn-u:

60, 48, 38, 28, 24, 20, 18
1.24
2.28
3.18

4. 60

Correct Answer :-
« 28

38) The series given below contains a sequence of numbers. Identify the incorrect combination: ISk at
TS g §, T3 HT U v IUTRIT &1 T Faie Ug=ni~e:

3,9,27, 81,249

1. 249

2.27

3. 81

4.9

Correct Answer :-
e 249

39) How many different five letter words can be formed using the letters of the word 'PAPER', if the
repetition is not allowed? / Tf¢ T-RTgIA BT AT 71 8 < 'PAPER', XTeg & 3H&RI HT SUTNT HIP
9T 31&Ri & fpaa fafire 2reg aTQ o |&d 52

1. 48
2.24
3. 120

4. 60

Correct Answer :-



40) Which state has only four districts - North, South, East ,West? / f5a Uy A haa TR o -
IR, afémr, gd, ufmr g2

1. Manipur / Hf0TgR
2. Sikkim / RifdenH
3. Jharkhand / SIRGS

4. Odisha / 35‘_ Sl

Correct Answer :-

« Sikkim / Rifawa

Topic:- Mental Ability and Mental Aptitude

1)

If the following two squares shown below overlap, which one of the following options

is formed? / &fg e gf adf ¥fienfa @i § o FFa & & @i a1 v e aaar §7

-— "

=
L)
I



4,

Correct Answer :-

In the sequence shown below, which figure comes next? / A e 7 &H #, Hrell
HTHT it T IEE?

.»"f”- -‘-“\"a, v‘{.‘"—"i‘?‘-.‘ﬁ "’t"‘—["w.‘\“‘ ’ ‘-..-v‘\"

I'.v ".\T"“_E:""‘f \l‘ ”.v‘ ‘u ) ~ "1.-"‘ ;" % ,/ % ;f< ~

I
ot o LA !
e

|
1 e A1| .|’ - " ™, ;
y I h -,
v, | b | " b o

3 H o y
R My

¢ n m 1"

a4 ", l“
T e e = |

|
[ ", p




Correct Answer :-

3)
In the sequence shown below, which figure comes next? / Al & TR &H #H, eIl
el iet | AREA?

o d"sb N J__.—’”' H“\_._‘
y A-.“ﬁ / \\‘I \ e i | ’;-' 'xf
X o i
/ |/ ﬂ N, -_a‘ \% .f"{ ?
; S —— . ;
Y 1" ul 1 Y

S
2.
@)
3. |
4,

Correct Answer :-




4)

2% m of cloth required to stiich a skirt. For how many skiris can be stiched with

105% m of cloth? / w&s&ﬁqﬂﬁﬁﬁvzéaﬁ FHUS T HTIRAGAT BT Bl mﬁgr—i’r.

HUS # Thael The deiai?
1. 47
2, 87

3.37

4. 27

Correct Answer :-

. 47

A X B =1920 - 960 is equal to 960. Find the value of A. / A x 6 = 1920 - 960, 960
& TET §1 A & AT AT BT

1. 164
2. 160
3. 166

4. 155

Correct Answer :-
« 160

6) Three taps A, B and C together can fill a tank in 6 hrs. After working for 2 hrs, A is closed and B
and C filled remaining part in 8 hours. Find the time taken for Tap A alone to fill the tank./ A, B 3R

C, A9 71<1 U ¢ ol 6 Uc § YT IPhd &1 2 U TeiM & 91, 7ol A I ¢ HY ¢+ U B 3R C 30
SHEH U UTA B A BT I &P B fhat ST & YR urdwm?

1. 20 hrs / 20 Tc
2.15hrs/ 15 °9¢
3. 10 hrs/ 10 ©¢

4. 12 hrs/ 12 79¢

Correct Answer :-

e 12hrs/12%¢



7) How many seconds will a 250 m long train take to cross a man walking with a speed of 4 kmph in
the direction of the moving train, if the speed of the train is 58 kmph. / 58 folt/d & wfa & 9a 8t
250 7. T} T o 4 forritye fr nifa @ S} fo=m A Uet war 38 v et #l fram /. A UR
H?

g
16= sec
3

4, 16sec

Correct Answer :-

8) The present age of Mohan is 10 years. If after 5 years, the ratio of Mohan’s age to his father’s age

will be 1:3. Find the present age of the father. /ﬁ?ﬁaﬂa'cfmﬁang 10 Hﬁfal uﬁsa&aﬁ, 'FhBT-l
3R I AT &1 3T BT SIUTd 1:3 1M, ot TP a1 B gda1= Ry 1 Piforw]

1. 40
2. 36
3.32

4., 35

Correct Answer :-

9) Pratik purchased 40 shirts for Rs. 3,000 and spent 10% for transportation. To earn a profit of

20% what should be the selling price per shirt? / Uil 7 40 TS 3000 FUY H @RIl 3R I 10%
e R @ BT 20% BT U FAM & 7T, I/ T3S W foraa w0 | S+ gl

1. Rs.109 /109 ST
2. Rs. 95 /95 ST
3, Rs. 90 /90 SUY

4. Rs. 99 /99 3T



Correct Answer :-

« Rs.99/99 30%

10) What is the mean proportional of 40 and 90? / 40 31T 90 T HTH GF;[Q'H%T gHm?
1. 50
2.20
3. 60

4. 30

Correct Answer :-

11) What is the loss percentage if an article costing Rs. 10 is sold for a loss of Rs. 2? / Tf¢ 10 TUY H1

forelt avg @1 2 TUA & JHAT W 99T AT A THAT BT UIa=Td T T2
1. 10%
2. 5%
3.25%

4. 20%

Correct Answer :-

12) On the scale of a map, 0.6 cm represents 5.4 km. If the distance between two points on the map is

35 cm, then the actual distance is /WW%WW 5.4 fReY. 31 0.6 . ﬁa'silffﬂ
gﬂ?ﬂ%l Tfe ATfE W <l fargan & dfg ot gt 35 9. g, 9t 391 ot B arafa® g
I

1. 900 km /900 foHT.
2. 315 km /315 foHT.
3. 600 km / 600 THI.

4. 250 km / 250 T,

Correct Answer :-

e 315km/ 315 fooe,

13) If the diagonals of two squares are in the ratio of 1 : 3, then what is the ratio of their areas? /7.‘?[

T & fawul &1 Srqurd 1:3 8, a1 3% &ABa! P FuTd fHa- g2

(19)



1.1:6
2.1:3
3.6:1

4,1:9

Correct Answer :-

14) A number when divided by 3 is reduced by 32. What will be number? / T% TIT &1 3 F HTT
I TR 32 3P HH I T €, I8 =T FT 87

1. 48
2. 36
3.56

4. 64

Correct Answer :-

15) 42 is what percent of 210? / 42,210 BT e wfa=ra 82
1. 22%
2.20%
3.25%

4. 15%

Correct Answer :-

16) A village lost 12 % of its goats in a flood and 5 % of the remaining from diseases. If there were
only 8360 goats left, what was the original number of goats? / U a Bl 12% WRTIT dle ﬁagﬂi
3R AT 5% ARG B Ioig F 7= T3 | AfS 981 8360 THivar 3nft s=ht § ot iq & oo fra-i
EEZREIRiF:

1. 8360

2. None of the above/ 37[1?{ I ﬁ‘é :Ig"f
3. 12400

4. 10000

Correct Answer :-



« 10000

17) The average age of X, Y and Z is 46 years. If the average age of X and Y is 44.5 years, then what

will be the age of Z? / X, Y 3 Z T 39 3T 46 TY &1 AT X 3R Y B SNqd MG 44.5q4 g A Z
P Y T A1

1. 47 years / 47 CL
2. 49 years / 49 Ty
3. 50 years / 50 GL

4. 48 years / 48 ay

Correct Answer :-
o 49 years /49 ay

18) The average age of a class was 12. It rise to 13 when the age of the class teacher who is 37 years
old is also included. How many students are there in the class? / Tch DET & T Dt ST SI1Y 12
21 9% 13 81 STl 8 59 39 37 auffa Riere 3t 3my oft sits <t ol 81 wenm # fpam faenaff &2

1.24
2.23
3.22

4. 25

Correct Answer :-
e 24

19) The average monthly salary of a staff of 9 persons is Rs. 2,450. One member of the staff whose
monthly salary is Rs. 2,650 is transferred. Find the average salary of the remaining 8 persons of the

staff. / 9 TNTI & TCTWH BT S ARG A 2,450 TUA 4TI TP A Forep1 AR A 2650
FUA YT, BT RITHTIROT 81 TAT| T2 §U 8 S| & da-1 BT Siad fara=n gim?

1. Rs. 2,825 /2,825 30
2. Rs. 2,425 /2,425 3T
3. Rs. 2,625 / 2,625 ST

4, Rs. 3,025 /3,025 30

Correct Answer :-

e Rs.2,425/2,425 300

20) 45% of 1800 + 60% of 1500 = ? of 3420 / 1800 PT 45% + 1500 PT 60% = 3420 BT ?
(21)



1. 50%
2. 60%
3.55%

4. 40%

Correct Answer :-
e 50%

21) The net difference between selling a shirt at a profit of 4% and 6% is Rs. 3. What are the selling
prices? / fa<lt TE DY 4% & 3R 6% & U W 3T A 3 TUA FT 3feR 30T & | IS fasha o
w132

1. None of the above /%ﬁé‘aﬁs‘q‘é’r

2. Rs. 200 and Rs. 201 / 200 3T 3R 201 ¥4I
3. Rs. 159 and Rs. 156 / 159 ¥ 3R 156 TG
4. Rs. 157 and Rs. 160 / 157 ¥ 3R 160 TG

Correct Answer :-

« Rs. 159 and Rs. 156 / 159 3T 31X 156 ST

22) A train running at 90 kmph crosses a pole in 10 seconds. What is length of the train? / T

YeMSY 90 fPH/Her ) ITed F IF T8 8 3R 10 VHS A U W FI YR B 1l & | JTS] Y
TS 3T I

1.350 m
2.250 m
3. 150 m

4, 500 m

Correct Answer :-
e 250 m

23) Amit is two years elder to Anil. Anil is 1/8 of his father's age. After 6 years, Amit will be double
his present age. What will be Anil's father's age after 6 years? / Glﬁl?[, ISR T:?f Tel dsT %I 3ffre
3/ Tt Y ST T 1/8 1 6 WTer e, Fere BY Si1g e 1 &N g1 aifve & e )
3TY 6 TS TG fpat gRit?

1. 40 years / 4098
2. 32 years / 329y

3. 38 years / 38qY



4. 34 years / 3499

Correct Answer :-

« 38 years /384

24) The difference between a 2-digit number and the number obtained by interchanging the digits of
the previous number is 54. What is the difference between the two digits? / Sl 3! ardlt =T 3R

@ 3P Sid:uRafdd fohy I A UG ST $T 3ieR 54 T 1 &1 Sih| & T FT SfaR GRM?
1.6
2. 10
3. 14

4.5

Correct Answer :-

25) CANCELLED

The runs scored by four cricketers A, B, C and D for West Indies in an innings were in the ratio 5 : 2 :
4 : 3. The remaining players scored half the total of these four players. If D had scored 23 runs more
than B, what was the total score of Sri Lanka which scored 2/3 that of West Indies? / W—Eﬁﬁ cg
IR ST A, B, € 3R D & TP UR} H fHu 7T THRY &7 3uTd 5:2:4:3 1 AW f¥enfeai A g4
TR GRT IR T DR BT ST PR fbar] afe p A B F 25 37 3iftrew 591 at feiwr w190
THR ford=T @ o A S & TR 31 2/3 IR fpar g2

1. 161

2. 644
3.322

4. 483

Correct Answer :-

26) CANCELLED

A basket contains 10 apples and 15 oranges. The cost one apple is Rs. 9 and the cost of 1 orange is Rs.
5. Find the average cost of the 10 apples and 15 oranges combined. / TP B3 H 10 AT 3R 15 TR

g;nwﬁaao‘rqquﬁ%aﬁ?lm‘\fmn@sw%n 10 A 3R 15 FeRl 1 309 g fora=n

1. Rs. 32/32 300

2. Rs. 35 /35 S0



3.Rs. 33 /33 3T

4. Rs. 34 /34 R

Correct Answer :-

« Rs.33/333%00

27) CANCELLED

A is thrice as efficient as B and therefore can complete a piece of work in less than 30 days. If A and B
work together, how many days will it take to complete the work? / A, B = TET STl eHdTdr %

3R safee fhe o8 & 30 fd7 & iaR FR Tpar g1 afe A 3 B TIY A HTH B dl HH fhaq
f& 9 T 8t sImeeme

1 1
11-days /11-feA
3y

1.
3 3
11>days / 11=T&A
4 y 4
2.
11 11
11" days / 11=Tc=
4 ¥ 4
3.

4. 11 days / 111

Correct Answer :-

1 1
11-days /11-fg@
PR !

28) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: /:ﬂ%aﬂ_&; H@Tﬂﬁ, amaﬁ?'mﬁﬁﬁ@ﬁﬁ%ﬁgl W'ﬂ!ﬂ\—ﬂmﬁq

i.bnme0120enmb
ii.bnme0120enmb
iii.bnme0120enmb
iv.bnne0120enmb
1. iv

2.1



3.1
4, iil

Correct Answer :-

29) Which one of the following four addresses is NOT EXACTLY same as the one given below? / fafea

TR IR di & ¥ 4 33 R ud & Stob o DI 91 g TE 82

Annalise Anna
AV. Vicente Guerrero NTE. 3499,

del Norte, 64500 Monterrey, N.L., Mexico

(i) Annalise Anna
AV. Vicente Guerrero NTE. 3499,

del Norte, 64500 Monterrey, N.L., Mexico

(ii) Annalise Anna
AV. Vicente Guerrero NTE. 3499,

del Norte, 64500 Monterrey, N.L., Mexico

(iii) Annalise Anna
AV. Vicente Guerrero NTE. 3499,

del Norte, 64500 Monterrey, N.L., Mexico

(iv) Annalise Anna
AU. Vicente Guerrero NTE. 3499,

del Norte, 64500 Monterrey, N.L., Mexico

4. iii

Correct Answer :-



30) Find the average. /3ird Ao
18, 24,28, 32,36 & 42

1. 26

2.34

3.20

4. 30

Correct Answer :-

Topic:- Science and Simple Arithmetic

D Bvaluate: [(6475]02 =GR/ (647512 = GR T A AR

1.4
2. 16
3. 12

4.8

Correct Answer :-

e 16

2) Amoeba and paramecium are the members of: / GﬁTJITlII 3R RTHRRE g o %
1. Protista /Em?ET

2. Mollusca / HIAwnT

3. Arthropoda / 3fareT

4, Annelida /Qﬁﬁ“@T

Correct Answer :-

e Protista /u‘rﬁw

3) Which one of the substances mentioned below is not responsible for the depletion of ozone layer? /

= fou T yerdf # & 1 91 e W & 39erd & e Sarer g 72

(26)



1. Chlorofluoro carbons/dm\li\lqc‘j,\’rﬁﬁ CACT!

2. Carbon tetrachloride/d?léﬁl E;\Idﬂ-\lilas

3. Aerosols / Qil@@
4. Ammonia / SR

Correct Answer :-

« Ammonia / 3T

4) The source of energy in the sun is due to: /'\‘Iff A Sl BT Hd 11 BT HRUI %z
1. Conversion of uranium to krypton / Z3TH BT fhe § FUIRU

2. Conversion of carbon into carbon dioxide / T8 BT BTaT 315’3{73&?133 H SR

3. Conversion of hydrogen to helium / 8!33 S &1 giferad d =Uiavul

4. Burning of hydrogen / 6I$<§\I\rl-| CARNEL

Correct Answer :-

e Conversion of hydrogen to helium /@ 33 S 1 giead o FgiaRul

5) The smallest prime number is: / TTYdH YT T §:
1.6
2.2
3.1

4.4

Correct Answer :-

6) The set of pipes which take away sewage from our homes or public building to the water

treatment plants are called ./ Aferpran W\qﬂﬁlﬂﬁmﬂﬁmﬂﬁﬁlﬁ? Yo+ 9
qIfeaHd B 9Tdd SUAR JUF dF A o714 ©, GRS

1. pipe system / BRI
2. transportation /tlﬁaﬁ:[

3. sewers / HAAA

4. sewerage / Hcl HdR[

Correct Answer :-



o sewerage / H AR

7) The mean of all factors of 14 is: / 14%@3{1111#@@'%111%& %:
1.7.7

2.6

3.7

4.12

Correct Answer :-

8) Asteroids are found between the orbit of: / UG =@t DET Gk 1) g SIG] % :

1. Mars and Jupiter / T Qa’ Wﬁf
2. Mars and Earth / H7Tc] Td q%a“T

3. Saturn and Jupiter / I Td Wﬁf
4, Neptune and Pluto / 3{@5{ Td 'IE

Correct Answer :-

e Mars and Jupiter / T U Cj6\“-l|?1

9) Which of the blood component transports oxygen? / Y&d DT DI AT 39Uq TR BT qﬁﬂ?ﬁ
FHAT 32

1. Plasma / Sildsed
2. WBC / S&cgaul

3. RBC / 3RST4!

4. PIateIets/lﬁEﬁE\F

Correct Answer :-

« RBC/ 3R
10) Name the target organ of AIDS. / TG & WTEd 3T BT -TH 13T

1. Heart / gad
2. Lymph node | for e

3. Sex organs / AT



4. Brain / ART®H

Correct Answer :-

e Lymph node / o S
11) Nerve cells does not contain: /AT BITRABTSN A Ug SUFRIT 81 gidT &
L. Dendrites/éﬁfﬁf

2. Tendons /S0
3. Axons / &
4. Nerve endings (AP BarH

Correct Answer :-

« Tendons /el

12) Which one of the following compounds has a low calorific value? / ﬁmﬁﬁ@ﬁ@rmw
PT HH AR I gidT 872

1. Wood / el
2. Petrol /ﬁ'@ﬂ

3. Alcohol / TehIgTd
4, Coal / CARI

Correct Answer :-

. Wood/?'lib?ﬁ

13) The use of diesel and petrol is replaced by CNG in DTC buses in Delhi because: /ﬁQ'_Vﬁﬁ

IR o) 7 SioTa 3R U Te o7 WAt Welt gRT ufawafia o= feur man g wife:

1. Diesel and petrol have high calorific value / S| @TWWWWWW%I

2. Diesel and petrol are exhaustible natural resources / Sl aﬁvﬁ-@awaaﬁa@m@ﬁaﬁ
e B

3. CNG is a clean and non-polluting fuel /WWWW%W%@%I

4. CNG is a renewable natural resource /@WWWWWW%I

Correct Answer :-

¢ CNG is a clean and non-polluting fuel /WWW@?%WéW%I



14) The property of plane mirror to make ‘right appear as left ‘and vice versa is
called ./ THTd GUUT BT 98 TuT Forads Siaifa U5 'qTe ! 918 U & a1 39T fawda
feara g, sd FEd ol

1. refraction / 3da-
2. reflection / TRIdd
3. vertical inversion / 3¢¥ faeiia

4, lateral inversion /Wﬁﬁ?ﬁﬂ‘[

Correct Answer :-

« lateral inversion /W’ﬁﬁ?ﬁﬂ?

15) If three-fourth of a number is more than one-fifth of the number by 11, then the

number is: / TS fHAT T@= BT T-INUTE ST HBN F 1/5F 11 3P 3AfUF g, 1 98 I=T §:
1.25
2. 16
3.20

4. 30

Correct Answer :-

16) Find the compound interest on Rs. 2400 for 2 years at 5% per annum. / 2400 IUY TR
2 94 & T 5% ufaad 19 ¥ IR Tehgies 1ot &1 J1d B}

1. Rs. 198 /198 3T
2. Rs. 260 / 260 ST
3. Rs. 188 / 188 ¥

4. Rs. 246 / 246 SUY

Correct Answer :-

o Rs.246/246 ST

17) PQRS is a cyclic quadrilateral in which 2P = 86°. Find 2R. / PQRS U& T Igys &
fora® P = 86° 8, «R A I

1. 89°

2. 94°



3.90°

4. 84°

Correct Answer :-
e 94°

18) AB| | CD and EF is the transversal meeting AB and CD at P and Q, respectively. If ZAPE
= 6xand 2PQD = 4x, then 2APQ = ./ AB||CD 3R EF, AB 3R CD &I HHII: P 3R
Q TR fovsT ®iear g1 afe LAPE = 6x 3R 2PQD = 4x, 99 2APQ = BRI

1. 108°
2.72°
3. 94°

4. 56°

Correct Answer :-

o 72°

19) ABCD is a trapezium in which AB| | DC. If £A = 102°, then 4D = . /| ABCD T®H
THaw g oA AB| |[DC 213 2A = 102°, 99 4D = gl

1. 51°
2. 68°
3.78°

4, 64°

Correct Answer :-

20) I1f the area of a square play ground is 265.69 m?, then the length of one side of the

playg%ound is: / Ofe TP o Wd ASM &1 &THd 265.69 m? B, A @ ASH $t TP Yol Ft
WT&F :

1.12.7m
2. 143 m
3.163m

4, 13.7m

Correct Answer :-

e 163 m



21) The age between 11 years and 18 years is called . /11 99 3R 18 a9 & i #I
g Fgard gl

1. adulthood / dd¥H AT

2. toddler / T
3. adolescence / CRUREEI)
4. childhood / dTedTaRIT

Correct Answer :-

e adolescence / o RTa=T

22) What is the first term of the quotient when 2x3 - 3x + 4 is divided by x—1? / 51§ 2x3
-3x+ 4, P x—1 & gRI fauriora fFar oimar § a URTEa &1 94" ug H1 82

1. 2%
2. 2x
3.-2x

4.-2x
Correct Answer :-

o« 2x2

23) If the sides of a rectangle are in the ratio 5:4 and its perimeter is 54 cm, then its length is: / Tlﬁ't{a'?

ST B YSITE 5:4 F SFUTd & SR SAD! URATY 54 T, B, ot ST TS &
1.30 cm / 30 &1,
2. 24 cm /24 9.
3.15cm/ 15 GHT.

4,18 cm/ 18 94T,

Correct Answer :-

e 15cm/ 15 @Iﬁ

24) At a clearance sale, all goods are on sale at 30% discount. If I pay Rs. 315 for an
article, then its marked price is: / & f@it fasha 4, 7t W 30% ge W fapy W E1
ofe # U avg & 1T 315 U ST YA Hdl § df 39BT Sifdbd Ted 3:

1. Rs. 410/ 410 398

2. Rs. 390 / 390 ST



3. Rs. 450 / 450 ST

4, Rs. 380/ 380 T

Correct Answer :-

o Rs. 450 /450 30

. / 9fear & 991 SY = B @ o

25) Reproductive age in woman starts when their
SHPT |

1. height increases / GT':!'I'QF aa‘cﬁ %

2. weight increases / T SGdT §

3. puberty begins / I1a- Y gIdTl &

4. menopause begins / Wﬁﬁ?ﬁf RIS GGl %

Correct Answer :-

e puberty begins / BIGE] = Eﬁ?ﬂ %’

26) Animals whose members are diminishing to a level that they might face extinction are
known as animals. / U] ST e 39 TR d% UM 81 8 ¢ % 9 faeiu gf
Hod g, d Y S el

1. endangered / U
2. endemic species / RIS S

3. extinct/ﬁ?jﬁ
4. exotic/ﬁ%ﬁlﬁf

Correct Answer :-

» endangered / WY

27) The core of an electromagnet is made of: / ag"ﬁ[ JHd P HR = 9 =1 @?ﬁ %:
1. Softiron/ Hg NG

2. Magnesium / TR

3. Copper / GIEl

4, Steel / &I

Correct Answer :-

« Soft iron / TG qIgT



28) The square of the binomial (23 - 3)3) is: / [§Ug (23 - 3)3) HT T &:
1.4x0-9)0-6 )3

2.40 +9)5-12 3)3

3.40°-9)7 - 12 8)7

4.4%° +9)° - 12 45

Correct Answer :-

e 40 +9)5-12 .38

29) The cube root of 5832 is: / 5832 ®T YHJ &:
1. 16
2.28
3. 12

4. 18

Correct Answer :-

30) If the circumference of a circle is 44 cm, then its area is: / gfe fesdt qd ®1 ufefer 44 I. %,

o TTPT AT 8:
1. 116 cm?
2. 128 cm?
3. 148 cm?
4,154 cm?

Correct Answer :-

e 154 cm?



